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Q1 Departmental Profit and Loss Account balance will be transferved in
femmir a1 @ @ 9 gea B

x 1 Trading Account
M T Y

Ans

Balance Sheet

K2goss

V3

General Profit and Loss Account
CWHTHI -2 T

Profit and Loss Appropriation Account

4. - el
x arrA-gT= At e |
Question ID : 4548933853
Status : Answered
Chosen Option : 3
Marks : 3.00
Q-2 When the minimum rent is less than the rovalty pavable, difference is called :
i B v 2 2 Bt e 2 el e s e 2 = A L e 1 o)
Ans v Surplus
Shortworking
X2 :
areeT] e
x 5 Loss
E-‘
X 4 None of the three
Ci e e 7 s i
Question ID : 4548933860
Status : Answered
Chosen Option : 1
Marks : 3.00

Q3 1y case of instalment system, total interest receivable by seller is credited to -

I T |, AT g are Ay el = dftee fimr = & ¢

o Interest Suspense Account
1. L
ST g E=I H

Ans
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Aszet Account

2. ..
SRR e |
Sales Account

3.
x fesre =T o

Interest Account

F .

e

Question ID : 4548933845
Status : Not Answered
Chosen Option : --
Marks : 0.00

Q4 WWhich from the following is nof a factor influencing the size of cash reserve
kept by the conunercial banks ?
i R = e s e 1 b | e [ e e e ) = e B | s s e 1 L e £ T

A

w1 qaIfEd FEr e B 7

Ans X 1 Size of Deposits
" SHTET W STEN

Dead Stock
v T R

Past Practice
TSl AT

X 3

Nature of Investments
B == s O o
IE I ERIEN] Efﬁ Hf—__rll'?l

Question ID : 4548933885
Status : Not Answered
Chosen Option : --
Marks : 0.00

Q-5 Which one of the following measures will ot help in checking inflation ?
frr=fafian sarat 5 5 wE-ar ge-wita o fEta e J e F8@ ogar ¢
Ans x 1 Increasing Bank Rate
Sanctioning Liberal Loans
v i
X3 Adoption of Rationing
ST ST @ el

Promoting Savings

X 4

. N e M R -
gl T HITHsd Al

Question ID : 4548933881
Status : Not Answered
Chosen Option : --
Marks : 0.00

Q.6
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The Articles of Association contains

2 e o i M O = ety M

Ans

X1 Objects of the Company
AL SEET

x 2 Limit of share capital
" afergt @ Wi
x 5 Scope of the Company
T T hTHET

v Rules and regulations of internal management
S e & e qen faEe

Question ID : 4548933801
Status : Answered
Chosen Option : 4
Marks : 3.00

Q7 Which of the following is #0t a characteristic of management ?

o 8 e s e o 3 = o e O e e s = =

Ans Management is a composite process

x1'm¢awﬁﬁwmﬁm%

Management is a tangible force

(z'mwmarﬁﬁ%

X 3 Management i3 universal
vaw waErdt §

thagement is a social process
x4 s
U&=l Ud HHERAE uiEE B

Question ID : 4548933898
Status : Answered
Chosen Option : 2
Marks : 3.00

Q8 TWhich is nof a function of Reserve Bank af India ?
HIH-T VAT g @ & e JE@t e 7

Ans

X 1 None of the three
T W W g AR

X 2 Control on Comunercial Banks
i deT T
Izsue of Notes
3. .
x et w1 e
v Creation ofr(:'redlt
T FH A

Question ID : 4548933884
Status : Answered
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Chosen Option : 4
Marks : 3.00

Q.9

Ans

In case of a firm's dissolution, the balance of Realization Account is transferred
to Partners' Capital Account :

R R 1=t M e M s et ) s e e | = e B O e A i B S o
e = &
x1Equaﬂ}'

V2 Profit Sharing Ratio
AT AT ST A
Partners' Loan Ratio

x?"wﬁrmﬁtﬁa{mfﬁﬁmﬁ

Capital Ratio
X4 %
ad U H

Question ID : 4548933840
Status : Not Answered
Chosen Option : --
Marks : 0.00

Q1
0

Ans

Transportation of goods is an activity related to:
Hiel @ ufvass va e & e o

Trade

ST

Industry

= Ciu

Cormmerce

T

Ajds-to-Trade

v N

T H a1 F

Question ID : 4548933889
Status : Answered
Chosen Option : 4
Marks : 3.00

Q1
1

Ans

https://cdn.

Deduction allowed from gross salary :
R B R B o D S T |

x . Entertairunent Tax

x ) Income Tax
| ATTE
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JS Professional Tax
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A dH
x Inzurance Premium
CEHT gt
Question ID : 4548933832
Status : Not Answered
Chosen Option : --
Marks : 0.00
Q2'1 The second law of Goszen is
Ans x . Theorv of indifference curve
sk - s s e e
X2 Law of diminishing marginal ufility
B i I B S
Law of Equi-product
X3
WH-gTE @
v Law of Equi marginal utility
Y- S &
Question ID : 4548933874
Status : Answered
Chosen Option : 4
Marks : 3.00
Q?;1 The term previous yvear means in Income Tax :
e R i e s M e
Ans X 1 Calender Year
V2 Arccounting Year
%T‘I EI"T
X3 Finanacial Year before the assessment vear
T e a9 W g w i A
X 4 I\.Dne of thE three
W ®ig A8l
Question ID : 4548933829
Status : Answered
Chosen Option : 3
Marks : -1.00
QA1
4
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A lease was acquired for five yvears at a cost of ¥ 20,000. It was decided that
depreciation should be written off according to Annuity Method. The annuity
of T 1 at 5% for 5 vears iz ¥ 0.230975. The amount of depreciation is

T 20000 @ @rra w5 oAt @ fero wa weer fern | aftedt oefa @ ouee
W AT AN @ FAwEm gan, afs T 1 @ @iffai 5% @ s W5 @ @ faw
70230075 2| BTE 1 IR F |

Ans o 1.2 4619.50
X 23115488
X 3.27154875
X 47923090

Question ID : 4548933838
Status : Not Answered
Chosen Option : --
Marks : 0.00

Q.1 Thities of a Business Economist iz /are
U SATANIAE AL & e

Ans All of the three
VY i 4

Analvsing the problem
X2 s a1 freem

x 3 Setting the objectives
" Seggal o Fum
To reduce the risk of business

X4

Question ID : 4548933872
Status : Answered
Chosen Option : 1
Marks : 3.00

Qé1 Under Instalment Purchase Svstem, the nature of contract is an
1 2 e e et e S e 5 e R A S O

Ans x Agreement to Purchase
1. n Ca
A HHENT T
v Agreement to Sale
Agreement to Instalment
fthee @ wHET @
Agreement to Hire
4- Y 5 &
x | F e s o 2 1 o e

X3

Question ID : 4548933847
Status : Answered
Chosen Option : 2

https://cdn.tcsion.com//per/g06/pub/2289/touchstone/AssessmentQPHTMLMode1//228901912/228901912S12D165/15592244252821353/47022700... 6/44



6/5/2019

https://cdn.tcsion.com//per/g06/pub/2289/touchstone/AssessmentQPHTMLMode 1//228901912/228901912S12D165/1559224425282135...

l Marks : 3.00

J

Q7'1 Which from the following iz nof true ?

g 8 | we-ar wer F @ e ¢

Ans x1_

Management is a developing art, social science and developed profession.
waw Ueh fehrasiicl dhol, S s a2 fawfEa g 2 |

v
Management is a developed art, social science and developing profession.

Hawl U A o, wrEifors fasre o fawreter gem 2
X s

Management is a developed art, pure science and developed profession.

e U At @, faurg s e At e 2
F

Management is a developed art, social science and developed profession.

8

L8 B O £ 1 I S T O 1 0 s ) M 0 7 R O
Question ID : 4548933899
Status : Answered
Chosen Option : 3
Marks : -1.00
Q.1

The nature of Telephone expense is:

=

[t e 71 i M= £ e ) o e

Ans None of the three

1. e .
x [ s L s O ) =
Fixed
X2 fere
«- , Semi-variable
atg-gfEaele

Variable

X4.q: R

Question ID : 4548933863

Chosen Option : --
Marks : 0.00

Status : Not Answered

An
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Q1 According to Companies Act, 2013 the format of Balance Sheet is given in :

FrET aferfEe, 2013 @ SE s @ ey @ 2
Schedule-IT

SIE-II
Schedule-VI

SRRV

) X

X2
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J Schedule-III
3.
AE-100
x Schedule-I
4.
AT
Question ID : 4548933844
Status : Answered
Chosen Option : 3
Marks : 3.00
de Financial Leverage is also knowmn as
i T F s & A H A S ST E
Ans wp Trading on equity
CHHAT T T
X 2 Interest on capital
x Interest on Debentures
3. .
TEUTTET 99 A
X 4 Trading on debt
SR Y
Question ID : 4548933814
Status : Answered
Chosen Option : 1
Marks : 3.00
Q1'2 Business Finance is mainly concerned with :
e faer g i 2
Ans v Arquisition and Utilisation of Fund
e T wre e T SEET e |
Utilization of Fund
X2 5 \ o
At @ S we w0
X 3 None of the three
e
Acquisition of Fund
X 4 : i
G 1 s e e
Question ID : 4548933805
Status : Answered
Chosen Option : 1
Marks : 3.00
Q2-2 Which one iz nof method of calculating correlation ?
B R o s B e s P R 1 =1
Ans X 1 Coefficient of concurrent deviation method
ITER faEeE e Al
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, _ Fisher's coefficient of correlation
v 2 .
IR T HEHREE MRIERD
Spearman's coefficient of correlation

xa'ﬁmmﬁ:rwaﬁﬂﬁrﬂw

x4 Karl Pearson's coefficient of comrelation
el AR e

Question ID : 4548933870
Status : Answered
Chosen Option : 2
Marks : 3.00
Q3-2 Depreciation of Branch Fixed Assets will be credited in branch account book in -
T HT T RO TN HouEry Il o oRay a8t | sheT B0
w T f Bk Eill ] faz
Ans X 1 Fixed Asszets Account
B s o [l e
x 2 Branch Account
" ITET o H
v Head Office Account
QT HrATed oEr §
Depreciation Account
4. :
X IR ol H
Question ID : 4548933850
Status : Not Answered
Chosen Option : --
Marks : 0.00
Q‘iz The amount of preferential creditors is shown in :
GC:I gﬂEEhEIQQEEFi:GE%
Ans x 1 Deficiency Account
" RET w@R H
x 2 Balance Sheet
Cfeee
X 3 Profit and Loss Account
" E-EI T 6
{- . Statement of Affairs
feerfer faaeor o
Question ID : 4548933857
Status : Answered
Chosen Option : 4
Marks : 3.00

QE;Z In the capital budgeting , which of the following is considered ?
e A O e A s A e 2l e |
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Ans Accounting Income
Cash Flows

=g HUdTE

All of the three
&

Operating Profit
i o

X1
V2
X3
X4

Question ID : 4548933817
Status : Answered
Chosen Option : 2
Marks : 3.00

.2 - .
QG Which from the following iz nof an advantage of Line organization ?
Frfafad 4 W Sre-u1 w=@ drsd & aw F@l e ¢

Ans Prompt Communication

" T HeTTEE

.

« , Dermacratic Nature
- ST W
x 3 Better Control
FEae g
Strict Discipline

x4'ﬂfﬁ?eﬂ—:mm=r

Question ID : 4548933897
Status : Answered
Chosen Option : 2
Marks : 3.00

Q2 11y which of the following section of Income Tax Act exempted incomes have
been mentioned ?
G Rea I T e e 1 e A B 1 5 G T 1 O B o
fefm T & 7

Ans Section 80 TA

=T SO0IA

r 8

Section 83

X 2

=TT 88

Section 10
=7 10

v

Section 30

X 4

=7 30

I l
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Question ID : 4548933830
Status : Answered
Chosen Option : 3
Marks : 3.00

Qéz High Gearing involves :
e fimfin wwg 2
Ans e Excess of Debt Capital
ST ol @ AT W
X 2 Deficiency of Equity Capital
ki i e o

X 3 Deficiency of Debt Capital

X 4 Excess of Equity Capital
AT el & araan o

Question ID : 4548933821
Status : Answered
Chosen Option : 1
Marks : 3.00

Qéz Profit on cancellation of own debentures in transferred to

3 e W ERl ke o) B o i e i S el e M o) M= 0w O 5 3 [ s =

Ans X 1 Profit and Loss Account
SR T |
v Capital Reserve
2. e o
Tt =T H
5 General Reserve
A

x

. Debenture Redenyption Reserve
T W A

X

Question ID : 4548933843
Status : Answered
Chosen Option : 2
Marks : 3.00

Q.3 A small core group of persons doing their trading basicallv through internet is
0 anexampleof -
TETE &, T

Ans x 1 Tall Structure
| ST GTE

) Mixed Structure
X2 fafara @
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#, . Virtual Structure
gearer aren

None of the three
K4 S 4 % g it

Question ID :
Status :

Chosen Option :
Marks :

4548933910
Answered

3

3.00
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competing projects is :

Q1'3 The optintum wutilization of available funds with careful allocation among

£ [ O e O P M 0 s 2 e e e B MG e 1 e G

Ans Caplt’ll Positioning
X2 Cﬁpxtal Structuring
J Capital Budgeting
lt afer
C1p1t31 Rationing
ﬁ T
Question ID : 4548933809
Status : Not Answered
Chosen Option : --
Marks : 0.00
Q 3 An independent branch is one which :
G T AT 98 § o1
Ans X 1 Carries on business on a large scale
Ee YA U9 ST e 8
x 2 Does not obey the order of the Head Otfice
15 | o M e B M AN A R 1 T
e Independent in doing anv work
B e s s o B ol [ e
X 4 Purhcases goods on own account
WA F ol T HTE EiEdl 8
Question ID : 4548933851
Status : Not Answered
Chosen Option : --
Marks : 0.00

Qé3 The Registrar shall not register a prospectus, if :
wieeTy ufgawor &1 qoiaE T8 wen, afg

Ans
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. It is not accompanied by consent of the auditor
afmerd 9 e wee A &
X 2 It is not signed by every person
B (2 e | = 1o = v 0 s B e
v All\.n:f. the three
1 L S
x 4 Iti= m.:f: dztted.
fafer afien =187 8
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Question ID : 4548933802
Status : Answered
Chosen Option : 3
Marks : 3.00
Q‘is Financial Management is related to
fordirT vy T 2
Ans X 1 All of the three
B I 1 B
«- 5 Investment Derizions
At Ao
x 3 Recruitment Decisions
X 4 Invventory Decisions
e A
Question ID : 4548933807
Status : Answered
Chosen Option : 2
Marks : 3.00
Qé3 Diagonal combination is also called as :
e E e B 1 o i e O e s | e e e o
Ans x 1 Allied Combination
RIS AT
X 2 Sequence Combination
S AT
(. ; Service Combination
x None of the three
4. LT s g :
&= § 9 wig AE
Question ID : 4548933892
Status : Answered
Chosen Option : 3
Marks : 3.00
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Qé3 Increase in total variable cost is due to -
del wfvaaEsfter e # qfg wm me

Ans « ; Increase in production
Y

- Gedred | gfg
Increase in fixed cost

X2 oy SR e B

Increasze in sales

25 o 4 o

x 4 Decrease in production

FeArE | Al
Question ID : 4548933862
Status : Not Answered
Chosen Option : --
Marks : 0.00
Q7'3 From the following, identity the correct statement :
i R 1 e B B O -+ s b e 8 e 1 L
Ans X 1.
Management should give more importance to improving production than
productivity.
Ugw hi SeET o el H SeTe Bl Y Uy effens e 4 @nEy |
v
Management should give more importance to improving productivity than
production.
a1 S H GO H Seaaddr B e I SAfes e 4T AnfEy |
X 3.
Management should not worry for improving production or productivity.
b2 G B T T B 2 | e e 1 s i e 1 e W e s | B e
X a
Management should give equal importance to inproving production and
productivity,
SR B Tt o B B T e | e A o i e e A o R ) |
Question ID : 4548933901
Status : Answered
Chosen Option : 2
Marks : 3.00

Q.3 Any act done contrarv to the objective clause of the Memorandum of
Association is :
1211 A 1 0 2 £ e O T = M | G Ol e == 1S 11 3 O = | | ) =

Ans Ultra-vires

V. e
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Walid
2. @
ey

X

Statutory
RECIEER

Fiduciary

X =T

Question ID
Status

Chosen Option :

Marks

: 4548933804
: Answered

1

: 3.00

=& 81 Aot 27 7
Ans 1.5 Mill
v o wHo fier
Irving Fisher
2. ;
x W e

Adam Smith
xs TER e

1. M. Kevnes
4. ", y
x ae THe =

Q.3 Who has said, "There cannot be a more insignificant thing in the economy of
the society than money” ?

L e T A < o e e B e e s o e |

Question ID
Status

Chosen Option :

Marks

: 4548933877
: Not Answered

:0.00
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Ans F. W. Tavlor

Heruv Faval
2' , -\ S ki
x g'_‘lﬁ." T
! . Rosz Moore
¥ Y
G. K. Terrv
4. N
x o 3No T

Q4 Who has said, "Management means decision making" ?

E s B A A= e s = o A o I3 B A

1. N
x o SEo Cel

Question ID
Status

Chosen Option :

Marks

: 4548933905
: Answered
3

: 3.00

Q4 The concept of "Consumer's Equilibrium” was propouned and developed by :
i 1 e S e e B 0 = ke e B VAR e e | R
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Ans X 1. ]B Clark
o dfo qelE g

I. H. Richardson
y AN R
o QETD b ik

J Alfred Marshall
i ;ﬁg H Q E1E
X 4 J. ML Kevnes
“So UHo W BT
Question ID : 4548933875
Status : Answered
Chosen Option : 3
Marks : 3.00
Q2-4 Which of the following is included in Business Economics ?
T sl ¥ el 4§ O e mite e s 2 7
Ans X1 Profit Plam‘ung and Control
oI+ |"144|U'|"| R'Er |'-'|4-|‘.'b'-'|
i ) All of the three
"o e
x s Formes of Market
EIESIE Eﬁ TR
X 4 Theory of Firm
Question ID : 4548933871
Status : Answered
Chosen Option : 2
Marks : 3.00
Q.4 Prime Cost is also known as ¢
HeT AT T AT A E
Ans x 1 Fixed Cost
e AT A |
X2 Indirect Cost
SHTHE ST EF =TH T‘[
J Direct Cost
U WETd AT |
x 4. Variable Cost
q %Eﬁ B e Eﬁ =H _'ﬁ
Question ID : 4548933861
Status : Answered
Chosen Option : 3
Marks : 3.00
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Q‘i"‘ Which one of the following is creditorship security ?
i R 1 = e s ) s e e R 0 i 1
Ans None of the three
R
Preference shares
ey ST
Equity shares
AT 3777
Debentures
T

X 2
X 3.
v &3

Question ID : 4548933812
Status : Answered
Chosen Option : 4
Marks : 3.00

Q5-4 The remedies of under capitalization are
ST B ST #
Ans X 1 Share Split
ater FERTe
Izsue of Bonus Shares
T A9 T e
All of the three
AT A7 W
Iszue of News Shares
eI aRE UL E|

X2
v &)
y

Question ID : 4548933819
Status : Answered
Chosen Option : 3
Marks : 3.00

Qé4 Ditferent industrial units controlled by an industrial house is an examyple of -
U STEATTE TR & g AT S siemiie gwgar uw SeeI 8, a6 o
Ans  Circular Combination
1. o
FEArg A
x Convergent Lateral Combination
2. | e .
TRl I HATE

Divergent Lateral Combination

o oI b
[erepee 1 qre et

Dhiagonal Combination
x G
4. L
%IE.:U T A

Question ID : 4548933894
Status : Not Answered
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Chosen Option

Marks : 0.00
Q.4 Expenses allorated according to sales ratio of departments are
[ e B = e 5 1 e 1 e e
Ans J Sales Comnunission
RECE R e
x 2 Rent of Building
g I T
x 5 Depreciation
B
x 4 Repairs
HATHHT
Question ID : 4548933855
Status : Answered
Chosen Option : 1
Marks : 3.00
Qé"‘ Liability of a Sole Trader is :
T Udhel T T a1 B E
Ans Limited
X
T
! TUnlimmited
2.
AT
x 3 TUndecided
" arfeita
x None of the three
4. N N R %o .
o L s B ) = e |
Question ID : 4548933890
Status : Answered
Chosen Option : 2
Marks : 3.00

Q.4 When a plan is fornmilated before the occurance of an event, it is known as
UF HeA] & =ied 89 9 Ugel Wa Uh O] g9 Wl 8, 9 S @y 8
s Routine Plan
X S i
X 2. Reactive Plan
uferfeparardt A

Proactive Plan

V'3 RRrarard dro

An
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Question ID : 4548933907
Status : Answered
Chosen Option : 3
Marks : 3.00
st To ascertain the closing debtors of a branch will be included :
Tl & AfOH SHE ST e § Ao g
Ans X 1 Credit Purchases
| WY WY
J ) Credit Sales
X 3 Cash Purchases
JSmg Y
x Cash Sales
Question ID : 4548933848
Status : Answered
Chosen Option : 2
Marks : 3.00
°1-5 Which of the following is not an element of delegation of authority ?
fAfafian § W BFE-A1 Sfsmr s & daw J8T g P
Ans Power
1.
v artae
X 2 Accountability
EEnECE ]
x 3 Responsibility
FovaTaT
Authority
4. )
x & PR
Question ID : 4548933912
Status : Answered
Chosen Option : 1
Marks : 3.00
Q.5
2
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Consider the tollowing steps
15 | 1 £ = el | e O = 1 e 1 | s L

(I) Material consumed (2) Factory Cost
HA AT AT BT TAT T

(3) Prime Cost {4) Cost of production
Hat =T sECTEA ST

The correct sequence of these steps in cost sheet is -
AN = H g A FT A SEA B0

Ans % 1.1,3,4,2
724,321
31324

X 41,234

Question ID : 4548933864
Status : Answered
Chosen Option : 3
Marks : 3.00

Q.5 Annual value of a house property is Rs. 1,20,000. B and C are equal co-owners
3 of the house. B's income from house property shall be Rs. :

T WA WEIR w1 Al qe wo 1,20,000 2| g9 A F avay & wEwE B ud
C & B "o Wi W A 2 wo

Ans > 140,000
o 2. 42,000
75 3.45,000

X 4.60,000

Question ID : 4548933834
Status : Answered
Chosen Option : 4
Marks : -1.00

Q-5 1f EPS is T 4, DPS is ¥ 2.50, cost of rapital is 16% and IRR is 18%, as per Walter's
model market price per share will be
afs ufer afer am T4 8 ARy ST emrer T 2.50 2 gult @ @ 16% 8 aen et
e &Y 18% B A1 @ecy Ared & SR Wi M arsn qe g

Ans

X 1.82717
2 %2617
75 3.272417

X 422517

Question ID : 4548933828
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Status : Answered
Chosen Option : 2
Marks : 3.00
Q5.5 Which of the following is not a merit of decentralization ?
fAwfafas & o wE-a Aadimeo @ oy FE@ e ¢
Ans v Difficulty in Control
=T 3 wioE
Timely Decision
2. _ v
~ THA TT
X 3 Suitable for Routine Work
" HferE W By S
X 4 Higher Morale of Staff
TR W T A
Question ID : 4548933911
Status : Answered
Chosen Option : 2
Marks : -1.00
Qé5 The Sale of Goods Act came into existenice in :
avq faema affaem siftae | s
Ans % 1.1932
W 2.1930
75 3.1956
X 41931
Question ID : 4548933794
Status : Answered
Chosen Option : 2
Marks : 3.00

of money ?

aemfe & 7
Ans x Both American Version and Cambridge Version
1- N h, Yo N
AHRET oY T S e Y S
X 2 None of the three
B e s e s i
X3 Cambridge Version
t I:F'
American Version
i .
AERET TeT

Q7-5 Which of the following versions is based on the Medium of Exchange' function

Frefeifian werael (Versions) 9 &9 497 @ @i s & geae o

f

1
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Question ID : 4548933880
Status : Not Answered
Chosen Option : --

Marks : 0.00

Qés Branch account under debtor systemis a:

(6 B = = L1 r e O o 13 B e O | £ e
Ans

v Nonidnal Account
SIS ey I el |

x 2 Representative Personal Account
i dafads e

Personal Account

X3 “afders orar

Real Account

x4'aﬂﬂﬁfﬁ?¢m1

Question ID : 4548933849
Status : Answered
Chosen Option : 1
Marks : 3.00

Q.5 Which from the following iz #ot a true statement ?
Fr=farfian & @ wH-ur 9o wga J8@r e 7

° X
X2

Free rein technigue is the most suitable technique of direction for scientists.
11 O i T s T o e o Mt o s e e
Direction is helpful in implementing a change progranumne.
x&qzﬁwﬁaﬁ?wniﬂma%ﬁmwﬁﬁﬁﬁmfﬁ%l
N Selection is an integral part ot direction.
T HevE @ v o= o &

An Direction may be needed in an informal organization also.

LR FC 118 21 e ) s 2 BN e b = S o2 =1 | M =M s et M

Question ID : 4548933906
Status : Answered
Chosen Option : 4
Marks : 3.00

Q.6 Dioctrine of constructive notice is related to the constructive notice of the

following public documents -
SHATAE AT BT FHET @ W e aerEl & e e 9w

Ans X 1 None of the three
B e i O A |
Memorandum of Association

X2 e A

Both Menoranduum of Association and Articles of Association

«S'Wé?: B 11 2 £ A M 1 =< | e s M
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X 4 Articles of Association
OE AT

Question ID : 4548933800
Status : Answered
Chosen Option : 3
Marks : 3.00

https://cdn.tcsion.com//per/g06/pub/2289/touchstone/AssessmentQPHTMLMode 1//228901912/228901912S12D165/1559224425282135...

Q1'6 Perquisite of car, meals, credit card, club etc. will not be taxable, if assessee is :
TR, WA, Hiee HTe, a9 e YT B ar "9 2nf, afE wea #

Ans X 1 Specified employee

{- ) Non-specified emplovee

X 3 Government employvee

x 4 Non-Government emplovee

Question ID : 4548933831
Status : Not Answered
Chosen Option : --
Marks : 0.00

Q2'6 All adjustment entries in Final Accounts are written two places
B B £ 3w e O I o o o M B AN 0 T | B o

Ans X 1 Profit and Loss Account and Balance Sheet

T2 @ § 9= e d
X 2 Trading Account and Profit and Loss Account
I @I A AT T A
X 3 Trading Account and Balance Sheet
MR S A e frEe §

v Trading Account or Profit and Loss Account and Balance Sheet
et =t e e e 1 s e o e B s

Question ID : 4548933839
Status : Answered
Chosen Option : 4
Marks : 3.00

Q.6 Premium received on issue of share is a
RN I £ e ol e e M e A = e

Ans X1 Revenue Receipt

AT T

https://cdn.tcsion.com//per/g06/pub/2289/touchstone/AssessmentQPHTMLMode1//228901912/228901912S12D165/15592244252821353/4702270...
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X 2 None of the three
B O - R
Capital Receipt

v oI ATE T

x4 Deferred Capital Receipt
e qet it

Question ID

Status

Chosen Option :

Marks

: 4548933836
: Answered
3

: 3.00

Q.6
4

Ans

Which one of the tollowing statements is true ?
fFAreferfian w9 e @ e 8 7

Ko

In the books of Hire Purchaser, the Asset Account is debited with Hire
Purchase Price.

feperar g @ e H wedfe @ @ sfae o s g e ma gen W)
X 2

Under Hire Purchase, the buver charges depreciation on Hire Purchase

price of asset.

forr o o ST wen el @ S e He U B e € |

X 3.

Under the Hire Purchase, the ownership of the goods is transferred as the
cash down payment is made.

T B & s, oY B Aws e T W @ e B AT & e
T FTATNTT BT WA E

Hire Purchaser has the option to return the goods.
(4'ﬁﬂvmﬁmfﬁwmﬁmaﬁ%zﬁrﬁwq€m1%|

Question ID

Status

Chosen Option :

Marks

: 4548933846
: Answered
4

: 3.00

Q.6
5

Ans

Pavment of Dividend can not be made trom :
TSI EA Bl (B F=/ A e V| s | O
x None of the three
1. neoh L -
[ [ 1 s M 71 = e
Profits
JENIN
Capital
Rezerves
e w0

[

]
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Question ID : 4548933827
Status : Not Answered
Chosen Option : --
Marks : 0.00

Q.6 Which trom the following is nof an element of planning ?
L e s = B O 3 s B e =1
Ans x 1 1'—'11::gran'|:mes
T
Policies
Xz Hiferan
Procedures
X3 ORI EIEE
Prnciples
v

Ear=|

Question ID : 4548933908
Status : Answered
Chosen Option : 4
Marks : 3.00

Q.6 Matching concept relates to the preparation of :
i ke e A | e ) e e 1 B

Ans v Profit & Loss Account
- AT9-ET @re
x 2 Fund Flow Statement
o warE fggvm
Balance Sheet
X faeEe
x4 Cazh Flow Statement
e AT fEaeer

Question ID : 4548933835
Status : Answered
Chosen Option : 1
Marks : 3.00

Q8.6 With regard to nature of methods of credit control, find out the odd from the
following :
RS RC IR B e E ) e = e s e A M | R M B A e 2 R 1 3 ) | L

“ 1 Wariable Reserve Ratio
ufvedeiie

X 2 None of the three
B s L B O 7 =
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X 4 Credit Rationing
. i I
Question ID : 4548933886
Status : Not Answered
Chosen Option : --
Marks : 0.00
Q.6 Coordinating subordinates of a depastment working at different positions shall
be called as :
g fEar & fAfe o5t v s el & wusEe @ el |En 7
Ans X 1 None of the three
Bl i R i
X 2 Horizontal coordination
s
i . Vertical coordination
x4 External coordination
Question ID : 4548933902
Status : Answered
Chosen Option : 3
Marks : 3.00
Q67 The combined leverage is calculated as -
WdT Sl B AT 59 UBN B e #
Ans 1 DOL x DFL
X 2 DFL
" DOL
x 5 DOL
DFL
x None of the three
4.
T H W T A8
Question ID : 4548933823
Status : Answered
Chosen Option : 1
Marks : 3.00

Q.7 The entrv of transfer of goods in inter-departmental transactions at cost price
1 Juill be recorded in the transferring department in the
ST | e e o B T Bl 1) B M 6 e = =t M s R R
G

x

Ans . Diebit side of Protit and Loss Account

B [ B M s R [ ol -
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X 2 Debit side of Trading Account
21 1= 1 e G B A ol

e Credit side of Trading Account
MW W ® e ue H

x 4 Credit side of Profit and Loss Account
" TH-BT W @ e e |

Question ID : 4548933854
Status : Not Answered
Chosen Option : --
Marks : 0.00
Q2-7 Find out the odd from the following :
5 15 R = s B0 - £ W o S ) T L
Ans x 1 Aptitude Test
arfirsfE e
x ) Attitude Test
-~ afigfin ol
X 3 Psvchological Test
TS OE
( , Vision Test
e Ll i
Question ID : 4548933904
Status : Not Answered
Chosen Option : --
Marks : 0.00
Q3-7 "Wearing name plate in the office by the staff is mandatory”, is an example of
“ETATAE | ATl g A IS T s 8 98 U 9N B Oa
Ans v Rule
- M
X 2 Method
fafer
X 3 Policv
Hif
Ohbjective
Xoa
Question ID : 4548933909
Status : Answered
Chosen Option : 1
Marks : 3.00

https://cdn.tcsion.com//per/g06/pub/2289/touchstone/AssessmentQPHTMLMode1//228901912/228901912S12D165/15592244252821353/4702270...

Q.7 If rizk free rate of return is 10%, firm's beta is 1.75 and the refurn on market
portfolio is 15%, cost of equity will be :

nfg wifEs wfEd wemw 5w 10% ® % @ der o 175§ aer ar |l ow

e 15% 87 B, o wwar afer & e gn
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v 1.1875%
X 2.16.75%
X 3.19.75%
X 4. 21.75%
Question ID : 4548933826
Status : Not Answered
Chosen Option : --
Marks : 0.00
Q.7 With the application of debt funds in the capital structure, which of the
following will change ?
ol wvamn A e A & A @ Frefafag 8 9 ee g o e
Ans v Financial Leverage
faretra Sore®
x Dperatmg T_E&’Erage
x Operating Ratio
- aRETE Agd
X 4 None nt the three
[ 15 L B R e
Question ID : 4548933810
Status : Answered
Chosen Option : 1
Marks : 3.00
Qé7 Which one of the following is the objective of financial management ?
Fr=faftag § | ®e-ar ud B was @1 segen 8 7
A - .
ns J 1 Wealth Maxindsation
B I Ep s pie el
X 2 Sales Maxinuization
B eer BRI s o s e
x Asset Maxdmisation
3wy s
x . Revenue Maximisation
Question ID : 4548933806
Status : Answered
Chosen Option : 1
Marks : 3.00
Q.7
7
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A private company can comumence its business after obtaining the :
R v Ve | W = | B s B TS e M 1 5 4 3 B e B el T T | =

Ans X 1 None of the theee
B B sl O |
X 2

Both Certificate of incorporation and Certificate of commencement of business

g

S b e 1 Ko e e o e B e e o B A 2 (e = R 1)

X 3 Certificate of comumnencement of business
" ST U e T AT

v Certificate of incorporation
e @ wErE

Question ID : 4548933799
Status : Not Answered
Chosen Option : --
Marks : 0.00

Q.7 An agreement made without consideration is ?

8
gfeeel & fa=r fimr T v e w7

Ans X 1 Voidable
e
Valid
X2
H
x 3 [llegal
Void
v
=
Question ID : 4548933793
Status : Answered
Chosen Option : 4
Marks : 3.00

Q.7 MV + MV’

9 Inthe equation P= , which element is #of assumed to be constant :

AT P:wfiaﬁﬂ-waﬁrﬁm%’fmmwﬁr
Ans v M
Xa2p
p I
Xav

Question ID : 4548933882
Status : Not Answered

https://cdn.tcsion.com//per/g06/pub/2289/touchstone/AssessmentQPHTMLMode1//228901912/228901912S12D165/15592244252821353/4702270...

29/44



6/5/2019 https://cdn.tcsion.com//per/g06/pub/2289/touchstone/AssessmentQPHTMLMode1//228901912/228901912S12D165/1559224425282135...

Chosen Option : --
Marks : 0.00

Q.8 . : im .
o Operating I\E\, erage iz iqtml to:
o= SOEE avEY B

Ans None of the three

sl o i i
Contribution /PAT

afITErE/doucdio
Contribution /EBT

" HITET/ZodioTo
Contribution /EBIT

| AR/ Sodoagotio

Question ID : 4548933815
Status : Answered
Chosen Option : 4
Marks : 3.00

01-3 Working capital Management is managing
TrgeieT Oult WeE T HEwE Al E

Ans All of the three
=T H ot

x Long Term Assets
2. .
aTEdTe A
Vs Short Term Assets & Liability
B T s i W e e B | I R
Long Term Liabilities

R U [ o
AR B | e B R

Question ID : 4548933813
Status : Answered
Chosen Option : 3
Marks : 3.00

Q2-8 Who are parties to Bills of Exchange ?

faf=ms o3 & gerE FE 2 7

Ans

x . Dravver

-

Draviee
2.
x TRl

W All of the three
A H R

Pavee
STaTHT

X 4

f 3
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Question ID
Status

Chosen Option :

Marks

: 4548933797
: Answered
3

:3.00
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Frefafag § & sE-a1 dfas dare= & aw T8 & 7

v e

Ans Concentration of Econondc Power

arTfaTe SR W e

X 2 Standard & Better Production
yHIfte vd St e

Better demand-suppli coordination

X s ppl:

Financial Soundness

y

Q3-8 Which from the following is ot an advantage of Horizontal Combination ?

Question ID :
Status :

Chosen Option :
Marks :

4548933895
Answered

3

-1.00

Q‘iB Which one is modes of winding up of the company ?

G I o e B s i o et B e

Ans Winding up under the supervision of the Court

1, -
x SETerd 1 T H AT
Winding up by the Court

STATEA &7 A
Voluntary winding up
e WA

All of the three

X2
X3
| T

Question ID :
Status :
Chosen Option :

Marks

4548933803
Not Answered

: 0.00

", el ud Hfwad wm weawr Frefafi 2

Ans X 1.M=3Z-2X
2 Z=3M-2X
X3 Z=3X-2M

NaX=3Z-2M

Qés Relationship of Mean, Median and Mode are as follows -

I

Question ID

: 4548933866

|
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Status : Answered
Chosen Option : 2
Marks : 3.00

Qés EBIT may be calculated as
Er’OTSFDSTI—SEOﬁD T AT T T Hehel _%—’ :
Ans ,  Contribution-Fixed Cost
 aferErE-ER T
None of the three
AT H W e AR
x 3 Sales-Variahle Cost

Sales-Fixed Cost

x4'ﬁm-ﬁ@mﬁmﬁ

Question ID : 4548933816
Status : Answered
Chosen Option : 1
Marks : 3.00

Q7.8 Non-departmental items of expenses are charged to -

Ans Departments according to fixed assets

x1'ﬁ"—1ﬂﬁ¢~:?ﬁ1ﬂﬁﬁﬂ%ﬁfﬁ$ﬂﬂﬁ_

Departments on the basis of total sales
11 e s M = e B ) e

X2

« § General Profit and Loss Account

TR TH-ETE ST ¥
MNone of the three
y R
d= | W e A

Question ID : 4548933856
Status : Answered
Chosen Option : 3
Marks : 3.00

Q8'8 Which of the tollowing is not the principle of investment of a bank ?
Frafafag 8 | ®FE-w vE d5 & @A e frgie T8/ e v
Ans v Principle of Centralised Investment
x 2 Principle of National Interest
v fRe @ fagtd
x 3 Principle of probability of Investment
- fafemr @ anrETE @1 frEt
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4. . :
X T fafrmr @ firet
Question ID : 4548933887
Status : Not Answered
Chosen Option : --
Marks : 0.00
Qé8 Which from the following is used for providing training to the railway electric
engine drivers ?
5 A1 T B 5 e = s e O - M e e e 1 = 1 e Bl s R R L
e e & 7
Ans x 1 Role Playving Method
wferT Fass faf
V2 Vestibule training
BN WS Hider
X3 On the job training
Ef ;'1 o ufieEr
X 4 T-Group training
T afEE
Question ID : 4548933903
Status : Not Answered
Chosen Option : --
Marks : 0.00
ng Fixed Cost Capital does nof involved
e T arelt Ooit W oL et T ¢
Ans v Retained Earmings
EHECEE e
X 2 Long Term Loan
STEETA S0
Preference Shares
3. - .
K e
x 4 Debentures
FIIH
Question ID : 4548933820
Status : Answered
Chosen Option : 1
Marks : 3.00

Q 9 Time and Factor reversal test is satisfied by :

Ans Boweley's Index

arsd w1 YAFTE

B 2 NG M o T ik L e e 5 e 2 s ol e L
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Laspever's Index
x W Edl w
Fisher's Index
v e & qAFHE
T
Paasche's Index
x "-lTET Ei) w

Question ID : 4548933868
Status : Answered
Chosen Option : 3
Marks : 3.00

Q2'9 Which one of the following is nof a teature of Bonus Share ?
Fifare 3 ¥ -7 arIe 79l & T Te 6 v

v e

Ans Partly paid Bonus shares can be issued

it T A SiET @ e e o 9@ &
Bonus shares are issued as fully paid

B o B o s e O s

Bonus shares can be issued to the existing member only

R 1 e e e e e e o e e B o B 221 e | e e

The right of Bonus shares cannot be renunciated
Y 3 T ST vy e A @ W w

X2
X3
x4

Question ID : 4548933842
Status : Answered
Chosen Option : 1
Marks : 3.00

Q.9 In case of a Foreign Branch, Current Assets and Liabilities should be converted at
3 Foefi oy @ v W, A wefy gd af @l o

Ans « 1 Rate prevailing on the last date of the vear

T A sifam AR B a8 W
None of the three
2 onny N
T | W i el
Rate prevailing on the beginning date of the vear

xa'aﬁaﬁmfﬁm%ﬁmuﬁﬁmﬁm

Average rate

x4'aﬁﬁﬁﬁ?w

Question ID : 4548933852
Status : Answered
Chosen Option : 3
Marks : -1.00

Q.9 Depreciation on fixed assetsis a -
et R UY B § U
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Ans X 1 None of the three
=t W wE A
V2 Eevenue Expenditure
AT =19
Deterred Revenue Expenditure
A ST Wiy
Capital Expenditure
4. .
T =

X3

Question ID : 4548933837
Status : Answered
Chosen Option : 2
Marks : 3.00

Q5'9 Which from the following is nof a feature of business combination ?

1 | gy s M 3 B e 1 2 i 3 e o B A e O - (-

A .
ns Combination may be for the lust of power

wifae ol arerHn & fon WA 2 a2

. 8

Combination mav be a partial consolidation

WATE T A9 WEAE 8 Wl @

X 2

Combination cannot be of informal natuse
( 3. = 5 r P L &
AT AT HTl'TI ERl T—Iﬁ Bl Hbdl w

x Combination mav be for a short period only
WA el aeddre @ fong 81 W B

Question ID : 4548933891
Status : Answered
Chosen Option : 3
Marks : 3.00

Q9 e g -
¢ Cost ?t debt capital is computed as
FEOT Goil i ST DI TOET DI G B

Ans 1

X 1. z1-h
1.

X 2 =(1-f)

1.
1=
v & NP{ )

None of the three

q=1 W g A

y
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Question ID : 4548933825
Status : Answered
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Chosen Option : 3
Marks : 3.00

Q7'9 Cost of Retained Earning is equal to

Ans Cost of Preference Shares

1. [% v - Ay .,
x AR 9 B AT E
x 2 None of the three

B s B 7 = -1
J3 Cost of Equity Shares

B g s 13 e

Cost of Debentures

X4

Question ID : 4548933822
Status : Answered
Chosen Option : 3
Marks : 3.00

Qég Market value of shares of a company is decided by :
e i ek e o ) e e s et O o 1 O L o

Ans x1 Governument

LiECIES=Ed|

Concerned Company

xz'mﬁﬁ FEHT BT

Trvestient Market
v &) 5
fafFars= == g

x4 All of the thyee
B i g e

Question ID : 4548933808
Status : Not Answered
Chosen Option : --
Marks : 0.00

Q9 Deduction for other expenses in the computation of Income from house
property is allowable to the extent of :
b G B e MM B ) R S g B e o (A s R a2 - e T ) O o =

Ans

% th of Arnual Value
e

' 3
aﬁfﬁa@ﬂﬂﬁ

_ith of Annual Value

T:I'I'féTﬁ‘i‘c_nﬂErTII
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ith of Rent Received

X 3. 1

mﬁﬁmi{m‘rg

% th of Annual Value

x4’ i
AT qoT “
Question ID : 4548933833
Status : Not Answered
Chosen Option : --
Marks : 0.00
Q001 Which from the following iz also called as Emergency Currency’ ?
fFreferfiaa @ w1 fe srarddret= w9 & A f garr s & 7
Ans X 1 Inconvertible Paper Money
* amfvadEiE U= e
J 5 Fiat Monev
wifEse w= e
X 3 Convertible Paper Monev
O T aE
x4 Representative Paper Money
et 7= gEr
Question ID : 4548933878
Status : Not Answered
Chosen Option : --
Marks : 0.00
%-11 Data are arranged either in asrending or descending order in computing .........
TSl T FET I A A H WA F o T AT @
Ans X 1 Arithmetic mean
TR AT
x Geometric mean
2.
A A
X3 Harmonic mean
BT WA
vy Median
| HET
Question ID : 4548933865
Status : Answered
Chosen Option : 4
Marks : 3.00

Q021 Formuila of least square method 1s

T a9 A W g

https://cdn.tcsion.com//per/g06/pub/2289/touchstone/AssessmentQPHTMLMode1//228901912/228901912S12D165/15592244252821353/4702270...

37/44



6/5/2019 https://cdn.tcsion.com//per/g06/pub/2289/touchstone/AssessmentQPHTMLMode1//228901912/228901912S12D165/1559224425282135...
Ans o F 1 Yo=a+bx
X3 Yo=x+ab
X aYo=b+ax
Question ID : 4548933869
Status : Answered
Chosen Option : 1
Marks : 3.00
Q-1 twhich of the following is the hasis for the indifference curve analysis ?
03 iy S 5 > ?
R~ s 2 s P s s [ | G = 0 L ) s 1 =
Ans x 1 Diminishing Utility
g EE R
X 2 Cardinal Utility
oA E
v Ordinal Utility
5 B
X 4 Independent Utility
gt
Question ID : 4548933873
Status : Answered
Chosen Option : 3
Marks : 3.00
Q041 Pre-incorporation profit is credited in :
WA & g4 & o W e e #
Ans x 1 Secret Reserve
A W
of Capital Reserve
2. i ’ -
Tt W= ¥
Profit and Loss Account
3. S, Sy
T+H-F ERCInE:|
X 4 General Reserve
AT e o
Question ID : 4548933841
Status : Answered
Chosen Option : 2
Marks : 3.00
Q.1 . .
o5 Pav Back Period is calculated by :
AT AT STl OO OS] #
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Ans o -
None of the three

r 8
[ e L B B 1 s el
Gross Profit
Net annual cash flows
x 2 ol o+
g aiff® Fws ware

Total Capital
MNet annual cash flaws
R Sl
g ME qAHE waE

Initial Investment
MNet annual cash flaws

qRfeE AT
IE Tt Aws waE

v 25

Question ID : 4548933824
Status : Not Answered
Chosen Option : --
Marks : 0.00

Q061 Which trom the tollowing is nof an evil of combination ?
i e e s e 51 s s Bt 1 B =1 =

F 4!

Ans Fear of increases in corruption

weTEN H gie o Wa

Disadvantages of small scale production
T TR & FewaT @ e

V2
x Fear of Over Capitalisation
3.
AT TR BT q

Creation of Monopolv

x4 THITHR BT T

Question ID : 4548933893
Status : Not Answered
Chosen Option : --
Marks : 0.00

%71 Which is the method of measuring elasticity of demand ?

£2 100 51 B 2 B | e M e i O 1 = A A
Ans
( . All\.ci the three
AT H AT

) Total Outlay Method
x Cgel =1 A
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X s

Percentage Method
EIEIL B EIE

Geometrical Method

X 4 et R

10
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The excess of Mininmum Rent over actual rovalty pavable is called :
2 e o e e e e Y e e 1 e e 1 v | O

Question ID : 4548933876
Status : Answered
Chosen Option : 1
Marks : 3.00
QOB1 "Management is the art of getting things done through and with formally
organized groups’. This definition has been given by :
“wasl SR W W Wi WE @ W g2 S0d g B e @ b £
Tz gfvar < 1g 2 g
Ans 1 J.L. Lundv
Slo Tdo U
P.F. Drucker
X 2.
Yo o FaN
v Harold Koontz
3.
BENTE drC
X 4 E F. L. Brech
" o THo TElo H
Question ID : 4548933900
Status : Answered
Chosen Option : 3
Marks : 3.00
Q.1 Which one of the following is not a tvpe of cheque ?
Frfafian # W HFE-w o6 & uEY T8 v 7
Ans x 1 Open Cheque
g =E
X 2 Bearer Cheque
X s Order Cheque
v Special Cheque
Question ID : 4548933798
Status : Answered
Chosen Option : 4
Marks : 3.00
Q.1
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Ans X 1 Irrecoverable rent
" araEEliaT faren
x ) Nazrana
AT
x 3 Surplus
" arfie
vy Shortworkings
ATIHT I
Question ID : 4548933859
Status : Answered
Chosen Option : 4
Marks : 3.00
Q 1 Formula for cnmpuh.ng quartile deviation is
ngch fererer= =l trndfi w1 A g
Ans x 1 Qs - Ql
' 4
v 28
' 2
x 3. Qg, - Ql
y Qs -0,
Question ID : 4548933867
Status : Answered
Chosen Option : 2
Marks : 3.00
?21 The loans given by which of the following institutions are called ‘Credits':
fFrefafian wrensal § 9 s g B9 79 sl @ @feed wmaEr S 8
Ans 1 World Bank
o6
X 2 IFC
 ATgoTmHeTo
v
’-Tﬁ'o@ot{n
xao O
" aMEoUHo o
Question ID : 4548933888
Status : Not Answered
Chosen Option : --
Marks : 0.00

https://cdn.tcsion.com//per/g06/pub/2289/touchstone/AssessmentQPHTMLMode1//228901912/228901912S12D165/15592244252821353/4702270...

41/44



6/5/2019

Q1
13

Ans
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'Holder in due course' iz related to -
enfafey anr Wt §
v Negotiable Instruments Act
e o IR e I o
x 2 Sale of Goods Act
A fAaw afafem a9

X 3 Partnership Act

TEIETY A
Consumer Protection Act
I e Sl

X4

Question ID
Status

Marks

Chosen Option :

: 4548933796
: Answered
1

: 3.00

Q.1
14

Ans

Coupon Rate 15 also known as :

FTEE B i & A W ST T
v Current Yield

AAHA Wi
Yield to Maturity
TR T T

Market Interest Rate

X 3

Gl =T o

X 2

None of the three

K4 b % % o o

Status

Marks

Question ID :

Chosen Option :

4548933811
: Not Answered

:0.00

Q1

Ans
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If book value of a share is less than its real value, the company is said tobe
afe sl @ YR qou 9Hd andfdd Hod | BH B Al ST G}
st
Over Capitalised
1.
X i
X 2 Highly levered
A SITel Aol

Under Capitalised
AT

Norne of the three

Vs

F

A= # W g T

Question ID : 4548933818
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Status : Answered
Chosen Option : 3
Marks : 3.00

?-1 In the absence of partnership agreement the profit is shared by the partners
ST Word T I H WTSETN B o B e
Ans x 1 None of the three
B B e el
X 2 On the basis of capital invested
J R ) i e s B A 2 s

X3

O the basis of the decision of the court
B | E £ e o0 e e el 11 el el s |

,  Equally
v : &

B M 1 O | W

Question ID : 4548933795
Status : Answered
Chosen Option : 4
Marks : 3.00

?71 Which from the following is not a consequence of deflation ?
frreferfiad @ § BE-9T TgT HhEe &7 wE T8 © 7

Ans x 1 None of the three

B 1 1 e s 7 =
Beneficial for the General Public
HTH W & fen saTas

X2

Harmitul for the Labour
o7 ® o s

X s

Beneficial for the Goverminernt
HYEN @ o enaTs

v &)

Question ID : 4548933883
Status : Not Answered
Chosen Option : --
Marks : 0.00

C1181 Which is the aldest form of Gold Standard ?
TEUTHIA T A O YT AT E Y
Ans v Gold Currency Standard
SV HETHTA
X2 Gn%d Parity Standard
TEET HHATHTA
Gold Reserve Standard
=l FHfEE
Gold Bullion Standard
G G e

X 3.
X4
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Question ID : 4548933879
Status : Not Answered
Chosen Option : --
Marks : 0.00

?; Which from the following is m#ot a factor influencing the organizational

structure of a compary ?

fFrefofian 8 @ S9- UF $OE @ SIS E S B 99T HeE 9o Uh i
T8l = !
Ans

X

Size of the Organization
ST W1 SATHE
Managerial Policies

X2 e A

x s External Environmient
q %
None of the three

—T
v [ 1 L B B el R el

Question ID : 4548933896
Status : Not Answered
Chosen Option : --
Marks : 0.00

3; Rovalty accountis a
AT Jow @ B U

Ans 1 Real Account
x B B EE O]

X 2 Personal Account
X3 None of the three
s s -

J , Nominal Account
g ETen

Question ID : 4548933858
Status : Answered
Chosen Option : 4
Marks : 3.00
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